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tan 60° X sin 30° — cos 30° X tan45° = V3 x 3" \/75 x1 =
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44 0.6947 0.7193 0.9657

45 0,7071 0,7071 1,0000

46 0,7193 0,6947 1,0355
@ 1.022 2)6.947 ® 7.071
@ 9.567 ® 10.355

x =10 xsin44° = 10 X 0.6947 = 6.947
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@®)140°

~&B

Lx 4+ 10° = 50° .. zx = 40°

/B = 180° — (10° 4 90°) = 80°
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CD =ADtan45° = 10 x 1 = 10(m)

BD = ADtan60° = 10 x V3 = 10 V3(m)

uatA 27] Alg) o] &zol=BD-CD = 10V3-10 = 10( V3-
1)m ©]t},
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sk A1zt o] 444 ol
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OEMNF = AAMN - AAEF
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25.
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sinx=A (0<A<1)2totH

y=A?2-24+2=(A-1)2+1

A=0¢of, HHzgk2

A=14 o %31 (0<A<])
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tan 60 ° = % = V3, AC =83
AABC :%x8x16><sin60°

:%x8x16x‘/7§=32\/§

AACD:lex/§><10xsm30°
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OABCD = AABC + AACD
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A0 9 utAE& x 2 StH BF =BE = x
AD=AF =49°|E2 AB=4+x,
CE=CD=21°22 BC=21+x

(44 x)% + (x+21)% = 252

L x=3

B
_ _ 1
JRE MAE T yols 3 X24x7—-m(3)>=84-9n
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> & x=5cm
> HE y=2cm

AF = AE = 5(cm)
DH = ED = 2(cm)
BF =BG = 5(cm)
. x=>5(cm), y = 2(cm)
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AMED = BE - 4 °]t}.,

ED + BC = BE + DC 0|22 ED 4 12 = BE + 8 o]t} wa}

AE=AD-ED = 12- (BE-4) = 16 - BE °|2& 474
ABE ©|X] BE? = (16 - BE)? + 82 o|c}. we}A BE = 10 ©]tt.
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A _-- 6em - D
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@(8 —4v3)cm
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2-r2+@4-r?=(2+r)?
r=8-4V3(-0<r<?2)

252 2cm °| B2
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5.0ptAD = 5.0ptCD, /BPD =
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i) 5.0ptBC 9 9F7to] 3x o]EE /BOC = 6x
ii) ABPD ©f|A] ZABD = 30° + 3x° o] 22
/AOD = 60°+ 6x°
iii) 3(60° + 6x) + 6x = 360° 5 o m=T050




33. t& 1Y o] LADB = /BDC ©]1
AD =6,DE =2,CD =3 ¥ 1], EB
o] dol=? A

D3v2 @3v3 @5

@ ® 11
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AABD ¢ AECD (AA T2)
~ AD:DE =BD: CD
Z,6:2=(2+EB):3
6x3=2x(2+EB)

- EB=7




